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! :I'[ A
The equation of vibration of a particle is given by Y = 4 sin ‘ JG”T‘FE ‘ :

Which of the following statements is wrong ?

Ush Y & HFA B FHIHLOT T=4sin‘3ﬂﬂ+’1‘| I & = B

i e er s e o S
Options:
The frequency of vibration i1s 10 Hz

, B H AGRT 10 B B

The amplitude of oscillation is 2 units

, SIFT T I 2 THE B

The initial displacement is 2,/2 units

. UREE g 55 g6 B

The motion i1s simple harmonic

L T, ¥ A &

Question Number : 2 Question Id : 5431075523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Which of following has not been expressed in proper units ?
= o & 3t eE °§ @I 787 e 7

Options:
Coefficient of elasticity - N /m?

| = 916 - N/m?

Surface tension - N/m

g A1 - N/m

Energy - kg m/s

3 T -kgm/s
Pressure - N/m?

4 %9 - N/m?
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Question Number : 3 Question Id : 5431075524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion

A particle moving with uniform acceleration travels 24 m and 64 m in
first two consecutive intervals of 4 sec each. Initial velocity of particle
18 ;

T { i

U THE &9 I TF9al R FH9T 4 9. & UIH I FHE THAT0

T 24m HATT 64 m =TT 2 | TH9T TH UEEAF a9 2
Options:

lm/s
1.

2m/s
2. tlf

Sm/s
=

10m/s
4 /

Question Number : 4 Question Id : 5431075525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

A man wants to hit a target. He should point his rifle :

U AT UF 9 & 9o J=dl = | 39 9 &5% 6l SRl =iy,
Options:
higher than target

e H HIY
lower than target

e o A

in the direction of target

&g & Hig o
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Nothing can be said

, TS TE R S AEA B
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

An inclined plane makes an angle of 30" with the horizontal. A solid
sphere rolling down this inclined plane from rest without slipping

has a linear acceleration equal to :

Ush =d 99do &fast o 30° @ HIOT aF=1dl & | Uk =149 T 249 94

g ¥

TOaae 97 997 e @99 O desar & ol 9@l 9EE o B o

=l

Options:

e |t
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

A smooth inclined plane of length L, having an inclination of § with
horizontal 1s inside a lhift which i1s moving down with retardation a.
The time taken by a body to shde down the inclined plane from the
rest 18 :

U =T L @ e @ O AfasT | g I U IR AT, a HAIHSA
T S 3avdl e o a5 & | Rl a5 g aadEeEr | a9

=

O = 99 ° T 999 B

Options: .
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2L

asin B

(g+a)smnd

Question Number : 7 Question Id : 5431075528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

The force between a proton and neutron inside the nucleus is :
AN & F=L g g T2 & di=" B G Bl B

Options:
Short-range

, -

Long-range

Van der Waals

= ¥ — =
, AF-ST-a1gY

None of the three
; aEr § T FiE A5

Question Number : 8 Question Id : 5431075529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

In which case does the potential energy decrease ?
FhE UeRver § RS &l "gedl B¢

Options:

Qcollegedunia;



On compressing a spring
RIAT =1 Huiisd e 97

1

On stretching a spring

. AT 1 e 97

On moving a body against gravitational pull
o TRl TI98 & TEEEIT &

i

I o A 97

On raising of an air bubble in water

-

, T B & gEEE & FHIT I W

Question Number : 9 Question Id : 5431075530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

A plane 1s inclined to the horizontal at an angle ¢ . In order that a
solid cylinder rolls without slipping, the least coefficient of friction is :

U e &S | o BT 9T I B | A UH S Awe = 99
AEHAT = A Aad FUI-IelE =

Options:
—(tano )
3
..
¢,
—(tana )
g
—(tana )
3
=4
4 :
—(tana )
e
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question
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The moment of inertia of a ring of mass M and radius R about its

planar tangent is :

ERET M Se99™ AT R 591 &l 99 & Aoyl sq& aud &9

Options:

MR’

2 MR?

Question Number : 11 Question Id : 5431075532 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Question

A particle performs uniform circular motion with angular momentum
L. If frequency of motion is doubled and kinetic energy is reduced to
half, the angular monentum becomes :

OF FOT L HIOE HAT ¥ THRAT I A R = | Al T &
FERT B G AT AT FHoll Bl AN FHT &, IO HAT ERT

Options:
21

4L

t.Jl[_'

Sl
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Cuestion g collegedunias



Considering earth to be spherical, as we go from equator to poles. the
value of g :
gl T AR HFRT Y9 @b § gl il A T4 9€ g O

Options:
remains constant

e v=ar &

decreases
Tedl 2

imncreases

Tdl 2

decreases up to a latitude of 45
45° ereqteT T T2l B

Question Number : 13 Question Id : 5431075534 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

If g denotes the value of acceleration due to gravity at a point distant
r from the earth's centre and if r < R, R being earth's radius, then :

AT g JeAT & &= O r T4 & (&g 9T JHA™ &0 H 941 5 AT
gE RIAT R AN E A r<R & oW

Options:

goC T
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question
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For stream line flow of liquid. Reynold's number is :

FEell 89 & Y "arE & oo Ieles 9 2
Options:

—-1000
1.

between 2000 and 3000
> 2000 ¥ 3000 & T

above 3000
3000 I FI7

below 2000
2000 9 AME
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

An ice cube containing a glass ball is floating on the surface of water
contained in a trough. The whole of the ice melts, the level of water
in the trough :

HiE FI G KT UF 9% HI AR E0S UF SR § 9Y gl |
d9¥ TBT 2| U¥ A% e 97 990 1 W SN o

Options:
remains unchanged

. OGS TR

rises

5511 3;_.'; [

falls
RIERURSl

depends on atmospheric pressure

FHYEHE & 97 FHET R
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ouestion Label : Multiple Choice Question

A long cylindrical glass vessel has a small circular hole of radius r in
its bottom. The depth h to which the vessel can be lowered vertically
in a deep water bath (surface tension T, water density p) without
water entering inside 1s :

U % SR B & o=aq H Ul § U o e o Bier &1
ORI B8 & | T 965 a9 A p 99 d/d U1 A9 Fa 5 4 991
=T T AT F I2M T H MBI h TF FAAT A@I B, 9 h 7,

Options:
4T
rpg
1:
3T
1pg
2.
2T
rpg
5 PE
d b
rpg
4.

Question Number : 17 Question Id : 5431075538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion

For a gas. the rms speed at 800 K 18 n times that at 200 K. The value
of nis :
fepdl 19 &1 800 KUY a3 H1=T & =1, 200K &l n T = | n &
q9 B

Options:
4
1.
1
5
U
2
=,
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Two wires of same material with radu in ratio 2 : 1 and length in ratio
4: 1 are stretched with forces F, and F, to produce same change in lengths.
The ratio of F, and F, 1s :

2 : 1 o1t A 4 1 TFE a10T U6 &1 Uaref & &1 90 h U TH
oETE gis & fOT F, AT F, el | di=En Sl 2| F: F, 3R :

Options:

Ls:1
1.

2 |
z.

1:2
=

1:4
4.
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

When a drop of liquid splits into a number of droplets. then :
S 59 & U% % He A5l gal o Fe AN &, Ol ¢

Options:
area increases

=,

1 ATl Jadl &

volume increases

, AT =Gl =1

energy 1s liberated

_ Foll AT Al B

Qcollegeduniag



energy does not change

L f

. 3T A9 giad Y=5dl &
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

In an adiabatic change, P and T of a diatomic gas are related by p . =
where n is :

FpHl TguemvF M & S@rd uiigad § P 3T T @ W= 3,
PecT®, 58I n B :

Options:
5
3
1.
7
5
2.
3
5
=
B
4,
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Colour of a star 1s an indication of its :
EREl 19 Rl %97 =a% & EEEET
Options:

size
, AT

distance
3 RN
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temper&ture
4 TTIHE
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which of the following properties of a thermodynamic system remains
constant during a reversible adiabatic process ?
=1 o 9 U= SSFIGE MA@ -1 0T U SehHYg Sty
OepH o A TEar B 7
Options:

Enthalpy
| Bl

Temperature
dm

Specific heat
2 fefores 3o

Entropy

4 W=

Question Number : 23 Question Id : 5431075544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
During the propagation of electromagnetic waves in vacuum :

Faid F g g O3 & G999 & 199

Options:
Electric energy density 1s equal to magnetic energy density
[Ed Fel ud b FHel 99 9iET 2 8 |

1

Both electric and magnetic energy densities are zero

, et gEEE St A SN ¥

Electric energy density ig double of magnetic energy density
. [ il A e ol g H G 2 |

gcollegedunia;



Electric energy density 1s half of the magnetic energy density
, TET T I, g ol T ST =

Question Number : 24 Question Id : 5431075545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

The limit of the observable universe 1s :
Options:

] 2% 10* Km

> 2 x 10%° light years
10
= 2 % 10V Al

4 2 * 10% light years

Question Number : 25 Question Id : 5431075546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple CThoice Cuestion

A whistler producing sound of frequency 450 Hz is approaching a
stationary observer at a speed of 33 m/s. If velocity of sound i1s 330
m/s, the frequency heard by the observer is :

Ueh HTEl J3 d6l, 450 Hz ST & &9 HId 33 m/s &l AW H
uF eI f::nFrr 28 ﬁT"F ST ¥ET B | Iig af-a77 330 m/s &, af &in

Options:

, 409 Hz

200 Hz

429 Hz

317 e

Question Number : 26 Question Id : 5431075547 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question
Qcollegedunla’



A charge q moves once in a circular path of radius R around a charge
Q. The work done 1s :

U 3997 q, R = & Eh‘lt-‘-J Te] ¥ Uh 39T Q & 9 Udh =17
=och e oAl Et"ﬁ:FJJ H .

Options:

0

Question Number : 27 Question Id : 5431075548 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Cuestion

A vessel at rest explodes into three pieces. Two pieces having equal
masses, fly off perpendicular to each other with the same speed
30 m/sec. The third piece has the mass three times the mass of each
of the other pieces, the magnitude of its velocity immediately after
explosion is :

fre & O geiien AN ghsi H hedl B | g9 549N & & Ths U6
gAY & TEEg THN AW 30 Hlo/Ho ??; EE AR R e

SeqH U A TSl @ SeAH AT = | faie & O7a T
=AE I H UHT B
Options:

30m/s

. 30 Hlo /o

10,/2m/s
, 10z Hio/Ho

10m/s
, 10 qlo/d6

gcollegedunla



3m /s

) 34lc/T6
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

The surface charge density of a thick metal plate 1s . The electric

field near the surface is :

T &M &1 HIET T2l & Ted SAELT 99 o 2| dd & Moe BB
%Er 7

Options:
2o
=)

1.

]
=

o

a
2ey
=4
3o
» P
- ‘—U
4.
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

If a parallel combination of n identical resistances each of value r 1s
converted into a series combination, the value of the new combination
15 m times that of the old one, where m 1s :

A r A a1 n U S Afqrdl J g9 GHGT d@geR] Giaiae 6
Uil HEHT WU o =ee SIS O |9" 9ideg @ =3 I
R Ufird @l m AT B, Bl m 2

Options:

Jn

1.

gcollegedunla
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Fig. presents infinite circuit. The resistance between A and B 1s :

-

Fig. 379+~ 9¥J¥ ToNal 21 A 31¥ B& &F Ofaad 3

Options:

(V3-1)0
1.

(1-3)0
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion
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The thermo-emf E{in V) of a thermocouple is found to vary with
5
temperature § (in "C) in accordance with the relation, E=40 B_ﬁ'

where cold junction is at 0°C and hot junction is at § C. The neutral
temperature of the thermo couple is :

0°C =1 Ud g°C ¥ | ad 9™ & a9 9o 910 =it E (V H),

& v o 6’ -
TIHH ¢ (C H) & WA e E=406-— & FYEIT TS0 |

AT /T 3R AT B o
Options:
100°C
1.
200°C
o

5 300 C

400°C
4.

Question Number : 32 Question Id : 5431075553 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1
Cuestion Lateal Multiple Choice Guestion

Metals are good conductors of heat than insulators because :
FATEH B oAl H G1gU ATEE gAEE =l & adiied

Options:
their atoms are relatively apart

| STE UEIY] AT Afuw gy B E

they contain free electrons

3T Rl ENEE =6 2

2.

their atoms collide frequently

3T O7 =] =R 2
;3 qIHTY] STl d =

they have reflecting surface

, 3H OIEd a9 B ®
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Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Question

Charge Q flowing through a resistance R, varies with time t as Q = at— bt
Total heat produced in R 1= :

Rl Tieg R § =udl SAEel Q, ¥HH t & 1Y F8edl B Q = at— bt?

% A | R H 30— & FHT 2

Options:
a’R
6b
1.
a’R
5 3b
a’R
3
3. 2b
a’R
. b
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

A current of 1.6 A is passed through a solution of CuSO,. How many
Cu™ are liberated in one minute (e = 1.6 x107°C) ?

CuSO, 9T H 1.6 AT 41T &= 9%, 1 H+e H fhad Cu™ AET
IGHFT BRI 7 (e = 1.6 x107'°C).

-
Options:
, 3x10%

3 % D4
z.
3.6 % 120

10
4_6 x 10

Question Number : 35 Question Id : 5431075556 Question Type: MCQ Option Shuffling : Yes Display Question
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No Control Enable: Yes a g :
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

The magnetic field at the centre O of a current carryving wire in the
form shown in Fig. 1s :

Fig. ¥ 39113 9EREl A & &= 0 T F=ad &F =

Options:
mol(1 1
4 L R, R,/

1
w1 1
4R, R,

2 3
1yl
—IR,—-R,
A (Ri—R,)

=
Mol
—(R;+R,
A (Ry+R,)

4
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

An electron ([m = 9 x 103 kg, e = 1.6 x 107°C) of energy 10 eV is
circulating at right angle to a uniform magnetic field. The speed of
the electron is :

UF 999 R 89 % WEdq, Uh 10 eV HAl gl SeiegE
(m =9 x102 kg, e = 1.6 x 10719C) TTIH T HT =T = | TOFE
= 2

Options:

, 3.8x 10° m/s
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51.9% 10 m/s

4

4 3.8 x 102 m/s

1.9 x 10° m/s
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Correct Marks: 3 Wrong Marks: 1

Cuestion Label - Multiple Choice Question

The permanent magnetic moment of atom / molecule of a diamagnetic
material is :

HEl OicF=rehid Jaref @& 9THIY/AY] H Rl g Y B o

Options:
Small

Question Number : 38 Question Id : 5431075559 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Cuestion Label @ Multiple Choice Question

At a place of latitude 5, angle of dip is nearly :
5° 3E7ieT ATel fohdll T U¥ ARG HIT T Bl B

Options:
e ]
10
1
0
0
2.
(o]
3 20
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Couesticon Label ;- Multiple Choice Question

Which of the following, converts mechanical energy into electrical energy ?
=1 o & Fifa® S #B dEg e o Feedl 5 7

Options:
Electric motor

| Frg A

Transzsformer

-

s s N

2.-".’

AC Dynamo
Tl ST

Dry cell

, T q=0
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

At resonance in a series L-C-R circuit phase difference between I and
Vis:
U Z9IERH L-C-R 9Oe H A9AE &l A9 H 127 Vv & A=

Options:

il

+
*

)
g
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Question Number : 41 Question Id : 5431075562 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Out of the microwaves, radiowaves, infrared waves and ultraviolet
waves, the minimum frequency is that of :

qiezhiad, Yedad, AaERT T AT O a3l 8§ =Iaq g

Options:
microwaves

e &
Higshlidd <kl

radiowaves

%r--. B r
\.'_.IT‘ I:J

infrared waves

o HITET TN Rl

ultraviolet waves

, TEERTET Tt i

Question Number : 42 Question Id : 5431075563 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
Maxwell's equations describe the fundamental law of :

Hepdqae & THERI9T T % Hifereh 99 @ g9 Hd B

Options:
Only electricity
| T ST

Only magnetism

55 TR g R

Electromagnetism
. JEG-grEE

Mechanics only
, T A=

Qcollegeduniag



Question Number : 43 Question Id : 5431075564 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

One can not see through fog because :
FEY & AU TR Y@ ST Gehar B i

Options:
fog absorbs light strongly

| BET TRl I AAEE ATAIOT HIT E

light is scattered strongly by droplets in the fog
FE¢ o AioE 98 TR1eT BT TS TN Hiel 2

light suffers total internal reflection at the droplet in the fog
FET o OE Jaf 9 TehIeT 1 991 A a2l B

the refractive index of the fog 18 infinity

FEY H AT A &

Question Number : 44 Question Id : 5431075565 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

If a glass rod 1s immersed in a liquid of the same refractive index, it
will :

Tie T UH B 34 AYGaHiE & & H A= I 2, O 98
Options:

look bent

'Llr- ol

-

look longer

AfTF =1 9dia BT

look shorter
FH = Odid B

disappear
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Cuestion Label - Multiple Choice Question
Who determined the mass of the electron indirectly by measuring
the charge of electron ?
[EFHT ZeTFET & SATIST H19 ST T90% 09T 2eidels &l =91 S
Har ¢
Options:
Rutherford
| v
Einstein
ATE=TST
z. i
Thomson
3, S
Millikan

[l

4 THIRTR

No Control Enable: Yes

Question Number : 46 Question Id : 5431075567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Correct Marks: 3 Wrong Marks: 1

these have same

Jy

Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
Juestion Label : Multiple Choice Question

Proton and o- particle have same de Broglie wavelengths. Both of
IS AT - 9T il STERE] T3

2 i e i, e N
o] €Y § | 1 <&l & 9 ==Y
Options:
Time period
 FATECHE

energy

=

el

frequency

o AT

=

momentuam

:\-I I"] 1
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Question Number : 47 Question Id : 5431075568 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The ratio of the frequencies of the long wavelength limits of Lyman

and Balmer series of hydrogen spectrum is :

ETSS ST Tegd & Wen AT My AfvEl & 399 aies Jmne
&l ATl AU B
Options:

27 :9
1

7

cn
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

A radar sending pulses of 1 us duration at intervals of 100 ug has

range :

UeF ¥T=TY 1 us T TG0 & G99 100 us & F=09409 99 G707 = | T80
FH g B
Options:

15 em

Question Number : 49 Question Id : 5431075570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 9¢~ '

No Control Enable: Yes g
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Cuestion Label : Multiple Choice Question
In a common base configuration of a transistor, I. = 1 mA, a= 0.95.

The base current [, is :
I & IHAMS AT ATHGH H L= 1mA, o =0.95, HET
qT LB

Options:
i 1.95 mA

5 0.05 mA
1.05 mA
>,

o 0.95 mA

Question Number : 50 Question Id : 5431075571 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

4

(2)

v

Aj Y
B
(1)
A A
TIF
B i
13)

(4)

Box

In Box symbols (1), (2), (3) and (4) are logic gates. For OR, NOR and
AND gates symbols are :

SEFT o == (1), (2), (3) 37T (4) TF-217 21 OR, NOR 3T AND
dH-217 & 2 =89 &
Options:

L83

1.

4 1.9
o
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Question Label - Multiple Choice Guestion

For an ideal solution :

O ATEel [Jead & Wy

Options:

AH _ — 0,
1.

AV . —> w0

Question Number : 52 Question Id : 5431075573 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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ouestion Label : Multiple Choice Question

gcollegeduniaé



The variation of vapour pressure with temperature for equilibnia
H,0(I)=H,0(g), can be studied by :

=y

O H,0(I)=H,0(g) =G 997 I & O & 91 Gi¥gaT H
qegme foRaT A7 TehaT B
Options:

Van't Hoff equation

gie Bp THERL &9

Van't Hoff isochore

giT BIp THEGH] 217

Law of Mass action
3 7 &I

Clausius-Clapeyron equation

AT ST TR S

Question Number : 53 Question Id : 5431075574 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

An aqueous solution whose pH 1s zero, will be :

o g (591 pH 99 919 &, 86T

Options:
acidic

i,

1 ST

alkaline
o BT

neutral

[

EHEEIE

amphoteric

i SHFEH]
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

The t o of a reaction is doubled as the 1nitial concentration 1s doubled.
The order of the reaction 1s :

Rl AR BT O =T &1 AT Sg 9% 39E t & I

= ST B | 29 SR & e B 7
Options:

0

Question Number : 55 Question Id : 5431075576 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Corrosion 1s an example of :

AT 3SEA9 =

Options:
oxidation

Lot
\?-' Ea'\ FI::IF'\-\.: C]Jl

reduction

5 HUIHIAT Rl

effusion

z, FARRSSEShE

erosion

4 FIIET BT

Question Number : 56 Question Id : 5431075577 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 900 Blav On 1 nad -
No Control Enable: Yes
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ouestion Label : Multiple Choice Question

The adiabatic process 1s :

H&lt] R B o
Options:
1sochoric

-
F I

1 o e /

isobaric

2. I\I i"l.qu

isenthalpic

- TH T

isentropic

, T9 TS
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

The orbital angular momentum of an electron in 2s-orbital 1s :

Os — Heldh @ Soldeld ol Hald HIend Hail =

Options:
1 hH
3 2

1.
gl 1
I

2.

h

g,
0

4.
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion
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Which of the following radioisotopes is used in the treatment of cancer ?
=1 il et § $M-91 $67 & 399 § TEd Bl B 7

Options:

CGE{J
1.

Question Number : 59 Question Id : 5431075580 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Calculate the enthalpy of formation of ethylene from the following
data :

Ffeiaa simet o Ui & 29 & e9aeal &l 9T &Y

(1) Clgraphite) + O, (g) = CO,(g) (AH =-393.5 kJ)

C (TFEE) +0, (g) = CO,(g) (AH =-393.5 kJ)

1
(i) H, () + 5 O, (2) = H,0 () (AH = -286.2 kJ)

(i) C,H, (g) +30, (g) = 2CO,(g) + H,O () (AH = -1410.8 kJ)

Options:

54.1 kJ
1.

48.4 kJ
2.

44.8 kJ
>,

S51.4 kJ
4.

gcollegedunia;



Question Number : 60 Question Id : 5431075581 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The emf of the cell : Zn |[Zn™ (0.001M )| Ag™(0.1M ) |Ag with standard

potentials of Ag/Ag” and Zn/ Zn" half cells of +0.80 V and -0.76 vV,
respectively, 1s :

TS B TUHUE ¢ Zn [Zo® (0.001M) || Ag™(0.1M) |Ag 1T H Ag/Ag =0
Zn/ Zn' I HEE ST, +0.80 V AT —0.76 V IATH TRT Fl HHA B

Options:

. 1.985V

1.888V
Z.

1.958 V
o

" 1.589V
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which of the following forms micelles above certain concentrations ?
R 5 A HE-H1 9 HEed Hhsol § F9T 5 ¢

Options:
Sodium ethyl sulphate

| ASTH gEe Jvhe

Sodium acetate

Cetyltrimethyl ammonium bromide

HieTZEmEe AAMNAH AHES
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

The pH of 0.005 M calcium acetate is (pK_ of acetic acid = 4.74) :

0.005 M =H~orH UHEZ # pH = (UHHCF TS B pK =4.74 5 ) :
Options:

6.00
1.

8.22
2.

9.00
=

10.22
4.
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

The solubility product of As,S. is 2.8 x 1072, What is the solubility
(mol/L) of As,S, ?

As S, T JEHIETCl 301 2.8 x 1072 B | As,S, & FEEA (mol/L)
T E Y

Options:

1 1. 74x16718

1.29x1073°
2.
5 1.92x107%°

4 1.0x107%8

Question Number : 64 Question Id : 5431075585 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The number of carbon atoms per unit cell of diamond unait cell 1s :
sEHE Ie A9 # Ofd INe A9 o e TEHOIAT B WA B o
Options:

1

1.
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Question Number : 65 Question Id : 5431075586 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Which of the following has maximum coagulation power with ferric
hydroxide sol ?

F=fiaT & & fas ae s =g 9w % A atama
oIS STfeRT & 7
Options:

. Cryolite (ZF SIS z)

, K0,

_ K [Fe(CN)]

, KJ[Fe(CN),]

Question Number : 66 Question Id : 5431075587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which one of the following 1s an example for homogeneous catalysis ?
FNad o W W TERE 3eiE & 90 UF 3aEid

Options:
Manufacture of sulphuric acid by Contact process

a

?

, 9 TERAT ST GRS TES H SE

Manufacture of ammonia by Haber's process

, BAY THI UERAT ST SAHIET & 3eaeT

Hydrolysis of sucrose in the presence of dilute hydrochloric acid

a9 RGeS TS = 3Uiaid d R &1 SRSy
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Hydrogenation of oil

-

4, T & BIEGSHIHLI

Question Number : 67 Question Id : 5431075588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Which of the following exhibits Schottky defect ?

= o o I el Ay Serar 2 7
Options:
AgCl

1

KCl1
Ni1O

FeS

Question Number : 68 Question Id : 5431075589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Which of the following element's compound helps in photosynthesis

of sugars ?

-

=1 o TReel AT 9T & TehIeT oYl § 9EEdr wedl B 7
Options:
Li

Question Number : 69 Question Id : 5431075590 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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ouestion Label : Multiple Choice Question

Ziegler-Natta catalyst used 1n production of polythene 1s :

TIeTE & 3ted o 0gad SRWi-Agel 3oih &

Options:

| TCl,

" FeClE

Mnﬂz
=

4. vﬂgs

Question Number : 70 Question Id : 5431075591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion
Bauxite 1s an ore of :
qEe 9 o B o S 2
Options:

Cu

Al

Zn

Fe

Question Number : 71 Question Id : 5431075592 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following has T-Shape ?

e e B 712 o 21 e 1 1~ B A
Options:

NF,
1.
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Magnetic moments of K,[Mn(CN)], F‘e[H,D']}'* and K,[MnCl,] are 2.2,
5.3 and 5.9 BM, respectively. These have number of unpaired electrons :

K,[Mn(CN),], Fe(H,0)" T K,[MnCl] T HH{=% HHZ HHT: 2.2,

g

5.3 T 5.9 BM 2| g5 FYRHT izl hl HEAT

Options:
1,4, 5
1.

Question Number : 73 Question Id : 5431075594 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Which one of the following complexes has the largest magnetic

moment ?
Options:

Cr(H,0)7
1.

Fe(H,O);
2.

gcollegedunla



Zn(H,0){
2

FeFi
4

Question Number : 74 Question Id : 5431075595 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Solubility of following metal sulphates in water decreases in the order :

7= HeeT |vhed & 9l o CIeRiieT g2 B FE B

Options:

, MgSO, > CasS0, > SrSO, > BaSO,

, CaS0, > SrSO, > BaSO, > MgSO,

4

5 Sr50, > BaS0, > Mgs0, > Cas0

, BaSO, > MgSO, > CaSO, > SrSO,

Question Number : 75 Question Id : 5431075596 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes
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uestion Label - Multiple Choice Cuestion

Decreasing order of stability of 0,,0;.0] and 07 is:
0,.0;.0; #AX 0¥ H [=¥ar = Jedl AT &4 & !
Options:

1 0, >0; }03_ >0,

03 :—Di_ L P
D; -t i:l'j - 0; = Dg_

O S0, 0,508
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question
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The sum of coordination number and oxidation number of the metal
M in the Complex [M(en),(C,0,)]Cl 1s :
[M(en),(C,0)]Cl T M €I il FIATSHIT T TUN AFIHRLOT
Options:

9
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

AlF, 1s soluble in HF only in presence of KF. It 1s due to the formation
of :

AIF, &9 KF @ 390 § HF ¥ geFeie = | I8 =9 &
@ IOl Bl 2

Options:

AlH,

K,[AIF ]
2

] K,[AIF,H |

K[AIF H]
4.
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question
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The hybridizations of atomic orbitals of nitrogen in NO,”, NO,” and
NH,*, respectively are :

NO,", NO,” @91 NH," T g & ITHIONd Faehi ol HehioT HHel =

Options:
, SP; sp® and sp?

5 SP: sp® and sp°
sp?, sp and sp®
>,

i sp?, sp” and sp

Question Number : 79 Question Id : 5431075600 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Among the following complexes the one which shows Zero Crystal
Field Stabilization Energy (CFSE) 1s :

=1 el o H uF A o e a9 BEEeETer Bl Bl 5

Options:
3_..
| [Fe(H,0)]

, [Mn(H,0) ] >
. [Co(H,0) ] %

[Co(H,0) ] 3

Question Number : 80 Question Id : 5431075601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

In solid phase of KeF‘E, it consists of :
S AT H XeF, ® BT ¥ :
Options:

XeF + F-
1.

gcollegeduniag



, XeF, +F,
XeF." + XeF;
>, 3

XeF, + 2F,
Ry T

Question Number : 81 Question Id : 5431075602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice GQuestion

S-5 linkage 1s absent in :

=

e o fped S-S ®El S 9uEd 2l 8 7

Options:
H,S,0,
i I =

, H;S;0,

Question Number : 82 Question Id : 5431075603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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No Control Enable: Yes
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Juestion Label : Multiple Choice Question

Oxidation state of carbon atom in {ZHE'ETIE s :
CH,ClL, H &hE- TTHMY] T ATFHIELI AT 5
Options:

411
.t

+1v
-11

Zero

P

ST (97)
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Question Number : 83 Question Id : 5431075604 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which among the following is not expected to undergo dimerization ?

FERag o o @9l (@099 (dimerization) ¥ ‘_.Jlfl’.al EANELS I CEE )

¢
+

-
=
Options:

BH
PR

. BF,

| AlCL,

None of the three
L A A
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Cuestion Label - Multiple Choice Question

The lowest oxidation no. of P 18 marked in which of its following acid ?

P Tl a9 FH AR Tl 29% Mg uids O i el

S ::_'i-
IT:‘ ;i--l L] '.

Options:

Pyrophosphoric acid
| USRI UiE

Phosphinic acid
z ‘Jii“- I'r I":li :--,rl -x'I\E_.-'

Orthophosphoric acid
3. _jlep” |"i - :?Irl .'\-!:lf L:rl .E' ]

Hypophosphoric acid

4 BIEIHERIE Tids
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Cuestion Label : Multiple Choice Question
Which one in the following is least basic ?

M= § f FE TEe w9 AE 2 7
Options:

PhNH,
Lz

NH,

Ph,N

=]
Ph,NH
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ouestion Label : Multiple Choice Question

Chloroform 1s used as reagent in laboratory for test of :

TR o FR<IHH &l 94T AFES & =9 ° 69 739 & g

= X

BT 8 7
Options:

Primary amine

1 '!:”'.:‘.rl'_i ch [._'11:1r[;

Secondary amine

ERIPEARE IR

2.
Tertiary amine
o E THT
Amide
4 B Lol
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Cuestion Label : Multiple Choice Question

Which of the following reagent will give amine from amide ?
M= o § H-AT AT E UHEs o UH ST ¢

Options: Qcollegedunia;




Soda-lime

, ArsT-TmEy

NaOH + Br,
o =

Conc. H,_ZSDer
- == HESO4

PCI,
4.
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Cesticon Label ;- Multiple Choice Question

In following sequence of reactions, the D 1s :

FfaiaT e ATaEEAE o, D=
_ N
CH,CH,CH,Cl __AlKOH  p HBr f‘fTa_}D
e er

Options:
Hexane

—n,

=T

Butane

[

Propane

SIEE]

2, 3 - Dimethylbutane
2,3 - SEHAEAHIA

Question Number : 89 Question Id : 5431075610 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which one of the following has highest reactivity for nucleophilic
addition ?

i == B 2 2 ? | B o =1 18 1 2 7 | 1 e 2 P0G 0 o 2 M | A M 2 e TSI | S
Options: Qcollegedunia;




, C;H,CHO
, C;H.COCH,
, CH,CHO

CCL.CHO
4, 3
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Cuestion Label @ Multiple Choice Question

What 1s electrophile in sulphonation of benzene

T & TR § gSashed 4 B

Options:
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Cuestion Label - Multiple Choice Cuestion

The following compund on ozonolysis yields mainly acetaldehyde :

=T TR Bl AR e 97 JEAaH] Ueireags J9dl |

Options:
Ethene

IE_Eh:r

1-Butene

P

1 —#

—

Qcollegedunia;



2-Butene

o 2-FE

3- Hexene

g EER I
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Cesticon Label ;- Multiple Choice Question

Alcoholic KOH 1s used for :
UshEleTsh KOH & 9IFT 2dT 2
Options:

Dehydration

, feEEgam (FeidinTer) & fog

Dehydrohalogenation

feerEgRanHH (CrEsRasme) & Ty

2

Dehydrogenation

. (e (fEeEgsnTen) % g

Decarboxylation

4, TEHEFEseE & oy
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Cuestion Label - Multiple Choice Cuestion

Compound in which carbons use only sp hybrid orbitals for bond
formation is :

= - — r =, r C b TR 2 - R o
d2 b TAHH hi<d hdel =9 THHIYT < IofU sp = 13‘"‘3?_; -HF[Hr"jF'__m.‘ ]

FT ITART FAl = ¢
Options:

L

1.
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*

CH
>,

2.

, = CH- CH = CH,

CH,~CH = C= CH,
4,
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Cesticon Label ;- Multiple Choice Question

The disappearance of the purple colour of KMnO, in its reaction with

alkene is known as :

OFehd & 1T SO AT § KMnO, & =l 31 & a9 21 &

=1 O AT AT B G

Options:
Markovnikov test

OieRiai—hig Toa79T

Grignard test

DGR R

2

Baever test

TT OV IETIT

Wurtz test

; gH TIE
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Couesticon Label ;- Multiple Choice Question

Which of the following componds on hydrolysis gives propyne ?

EESNAAT T Mead IR 5 3 FE-9T 9ded gdr & 7
Options:

CaC,
1. ¥
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Cuestion Label @ Multiple Choice Question

Lucas reagent is :

— s =%
SR AT B

Options:
, HCL/ NaNoO,

> H,/Pd
. HCl/ ZnCl,

, H/Pd/Baso,
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Cuestion Label : Multiple Choice Question

Hunsdiecker reaction 1s used for the preparation of :

EOSEHT ArdiERAT & STANRT Hterad o GRSl a9l & & ag
.-r-. r; : % :
Options:

Alkyl chlorides and bromides

il

| FTTREE ANESd ST AHESd

Ketones

i =

o IS
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Alkyl nitrates and nitrites

STRIE AEced 3T AlSgrEed

=

Alcohols
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Question Label : Multiple Choice Question

Base catalyzed condensation of two ester molecules to form an alcohol
and p- keto ester is called :
Fvhled =994 & g &l
B —FTET EET A FET AT 2

Options:
Claisen condensation

TS ST

Aldol condensation

HAwsSial {99+

Corey House reaction
B3 ATHAERA

Transesterification

U= Theh 2T

T 3Ea d994
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Question Label - Multiple Choice Guestion

Which compound 18 not an isomer of the other three ?

H—AT AR =ehl a0 &l SIE9HET A8 & 7

Options:
n-pentamne

n- U=

1.

2, 2 - Dimethylpropane

5 D SEEIEREIER

Qcollegeduniag



2- Methylbutane
5 2- HiFw=geA

2, 3 - Dimethylbutane

4 2,3 - SEHEEEET
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Juestion Label - Multiple CThoice Cuestion

Which of the following compounds 1s not an aromatic compound :

=

Mo o O SF-97 AN ULETes i3-S Jef & 7
Options:

-

/

—~
H =2
=
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Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

The value of |

"(1+fogx)

fogx

|—————=dx oH e

“(l+fogx)

Options:

X

—+
(1+ fogx)

oy

_:{._'
T e

B,
(fogex)
i

1+ fogx
—=—4e
%

xfog(l+x)+¢

=
=

=

sSINX +COSX

The value of |

SINX +COSX

WJ1—-sinlx

Options:

: Wsm2x +e

dx <kl HIH

L}

- dx ig :

.
r

—.d};‘ 18
Y Wl—sm2x

No

1

54310767
Yes
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Juestion Label - Multiple Choice Cuestion

gcollegedunia;



Afcosldx +¢

2.

tH{sinx—cosx|+c
3.

+ fog(smx—cosx)+c
4. .
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Couesticon Label ;- Multiple Choice Question

a0
The value of IG fog(l+cosx)dx is :

j;fﬂg{1+cosx}dx H OHE B

Options:
Efool
S OE

1.
~Ztog2
5 “O8

2.

—7t fog2

oF
T
— fog2
4

4.
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uestion Label - Multiple Choice Cuestion

The differential equation of all circles touching the x-axis at the origin

18 :

x —& HI T HIA FL TAT A &g T oA Tl 90 gl Al

., o
Hashel dHIRII &
Options:
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, dx x* -y
d}r_ Xy
5 dx x +v
5 andy
(-2 =2
3 dx

(x* +y" )dy =2y dx
4
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Question Label : Multiple Choice Question

i = . - = d}"__}'l oy };Il ,[1_1
The solution of the differential equation ¥ —XE—-_ T dic ¥\ )=L

s :

-
= -

s

" dy
g JHERI9] v—x—=2|1+x

dx \ dx )
Options:
3x 1
y—2=— = XFE—
1 2x+1 2
1
v=4+ -
5 2x+1 5
5 d %3 3
1
=3+ in . XFE—
4 2x-1 2
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ouestion Label : Multiple Choice Question

gcollegedunia;



The solution of the differential equation (x —siny)dy+tany dx=0, y(0) =0
18 :

IR FHIEHLT (x —siny)dy +tany dx =0, ¥(0) =0 T = =

Options:
SMYy =X
1.

y=sin" 4x

2 y=cos X.X€ [—1. l]

y=sin ' 2x.X € [—

bo | —
bo | e
i ]

4.
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Cesticon Label ;- Multiple Choice Question

The position vectors of the points A, B, C are 3i+j—f; ,3i—2jj+fgand
§+4:j_31:; respectively these points :

=

o fagaT A, B, C & AR FE90F FHM: 2i+j-k,3i-2j+k =0
i+4j-3k = T I g O

Options:

form an i1sosceles triangle

form a right triangle

HEHOT =g J91d &

are collinear

ORI (FE) B

form a scalene triangle

fomeTg =rgs 99 =
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Question Label : Multiple Choice Question
If two vectors i—zxj+5}v1:; and i+ :3}_3},1:: are mutually perpendicular,
then locus of (x, y) 15 :

Afe & AT AT {_2xj+3yk O {4+2x-3yk U gHY U7 @=dq
5 @ g (x,y) & Egug B

Options:
circle

1 T

an ellipse

,,j__r

-

‘\_:lr H. | J\-Elq JI

a parabola

a hyperbola
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Juestion Label - Multiple Choice Cuestion

The length of perpendicular from the point (1. 2, 3) to the line

x—6 y-—7

3 2

g (1,2,3) & ¥@r

Options:
6 units

, & AcH

8 units

5 2 Az

9 units

3 9 L FF..-

¥ @ T @ F T B G
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7 units
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Juestion Label : Multiple Choice Question

A variable plane which remains at a constant distance 3p from origin
cuts the coordinate axes at A, B, C. The locus of centroid of triangle
ABC 1s :

OF FY AHAE S O & B OA, B AT ¢ U Ofd=ws &Il 5 AR
g 95 | #sd 3p I U Mie=d g4 F919 Wadr 2 | FYs ABC
% Fadh Bl fasag B

Options:
. XE—}'2+ZJ=3PE
Kz+y:+z:=p1
z.
1 1 1 1
5 e e e
5 X7 F P
1 1 1 1
B 5 o) £ T ]
J X Y 7 3p”
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ouestion Label : Multiple Choice Question

=1 il Zed)
2 —1 3

and

The eqguation of plane containing the lines

T

q o ok Al gl X s L 2 R O -~ -
ol 93 o 3 = 3 =T j:}—i :_—1 hl HUT=ed <hi- dIiqdl
{ll ': ":TI F"El— \'Iir”'_q.f \.:Il -EJ-
Options:

18}:+3r—52—?=0

5 SxtTytz=8
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Cuestion Label - Multiple Choice Cuestion

1 1
If A and B are two events such that P (A) = 1 P (B) S and
1 "
P(ANB) = , then P(ANB) is
. . 4 o 1 -
gfg A O B ST I°90 0 UHT = [ P (A) = e EiE =S T

T
P(ANB) =g, @ P(AMNB) @1 919 = :

Options:
z

8

ba | = oo |

L
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Juestion Label : Multiple Choice Question

R is a relation on the set Z of integers and it 18 given by

ix.y}leR@h—}' <1, then R is :
qUIiehl 3 == Z U7 TR R 9 9 UHINd £ (ny)sRe|x-y <L
o = R B

Options:
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Reflexive and transitive

| Pt e

Reflaxave and symmetric

==

2 o -l- . ': = = ﬂ'?_ﬂ I'".- _\-\.I":ﬂ. ;

Symmetric and transitive

. THTE® = Zidiedg

An equivalence relation

e IE N BRG]

4.
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Cuestion Label @ Multiple Choice Question

For the binary operation 's¢' defined on R— {1} by the ruleax b=a +
b + ab for all a, b € R— {1}, the inverse of a is :

A4 HOIIE 'y "YT= R - {1} 9T 9 UHE diHiug B
axb=a+b+ab A & WU a, b e R-(1},'a & 799 (Hicw™
) B

Options:

—8
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Cuestion Label - Multiple Choice Cuestion

Qcollegeduniag



e ; X
Solution of the equation tan™

+ tan =— 18
x—2 x+2 4
& XK= .5 N
JHRETUT tan +tan =—dfK[ B & :

x—2 x+2 4

Options:

el
Il
-+

o

1

X=t—

=

5 2

3

X=x—
= 4
V5
X=*+—

=

4 -
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Couesticon Label ;- Multiple Choice Question

18 :

(.4
. 9 " _1 -
The value of sin| 2cos | ) ]
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

If A=F _:}.B=B IJ and A:+B:={A+B}:._ then the values of 'a

and 'b' are

—

1 ' a 17 ’ . o b 4
q/s A=L 1J.B=[ ‘ d A +B =(A+B), © 'a' ST 'b' <Al

HE 2
Options:

a=4 b=1
1.

n
p=
o
||
B

4_a=2,b=2
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uestion Label - Multiple Choice Cuestion

52 53- 54
c¥ st ¢
The value of | N
54 5'_‘ 5'5
> 5 5
g3 gd 55 1S
54 5} 56
Options:
52
1.
0
2.
513
=
59
4.
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ouestion Label : Multiple Choice Question

[x—4 .
x—+a .
=
If f(x)=9 a+b . if x=4, is continuous at x =4, then value of 'a’
B +b . if x>4
=
and 'b' 1s :
il B
IbL—+9L . 1 x<4
=
& f(x)=! a+b . if x=4, x=4, U¥ TFH Tad oA &, a 'a’
. B R e
=

T b W AT B
Options:

1.a={3,b=l
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Couesticon Label ;- Multiple Choice Question

L] 5

Xy dy

=1 e = L g
If cos ‘ — ]= tan "a, then —— 1s equal to :
| x“+y" ) dx
i E | }:: —\.’2 .II = -, d}r'- A
2l cosl‘ﬂ—‘,]=tanla, dal — T H9 =
X +y ) dx
Options:
dy x°
=
e
1 ¥
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dx v
2

ﬁ _2x

dx v
=

dy ¥

dx x
4,

Question Number : 121 Question Id : 5431075642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

A particle move along a curve, 6y = x° + 2, the point on the curve at
which the y-coordinate is changing 8 times as fast as the x-coordinate,

15 .
us @7 S 9% 6y =x+2 & ITfeer 9991 %< 77T B, 9% 9 98 fag
Sid Hifsg S8l 9¥ y -fAgelf& &% didgds @& afa

x —f-S9n® & T * 8 AT B
Options:
(4, 3) and (3,1)

1 (4, 3) Td=T (3,1)

ay

(-4, =31) and (4. 10)
5 (—4, -31) =T (4, 10)

(-4, -31/3) and (4, 11)
= (—4,-31/3) T=T (4, 11)

(4, 31/3) and -4, 11)

i (4, 31/3) 9=T (-4, 11)
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Cuestion Label - Multiple Choice Cuestion
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For the function f(x)=x"+bx’+ax, x¢ [1_3] Rolle's theorem holds with

c= 1+L. then the value of 'a' and 'b' is :

J3

e f[}i}=1{3+b}12—3?{. 1—:[1%] IE-UHT H c = l+% o= 49T

TS Heal =, of 'a’ o=l 'b' &7 O 2

Options:

1a=1{];b=5

a=11;b=-6

0
]
ok
ko
-
|
n
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Couesticon Label ;- Multiple Choice Question

The angle of intersection of the parabolas y° = 4ax and x* = 4ay at the
origin is :

AWl y2 = 4ax TUT x> = 4ay & Hd=< (a5l & Holl=g 97 949
HIOT T A =

Options:

T
L

6

b | = | =

| =
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Cuestion Label : Multiple Choice Question Q collegedunias



In which interval the function = & given by

4 4sinx —2x —Xcosx
t(x)= :

0<x <2m 1s decreasing ?
24cosx

i FEN, demx—2x—xXcosx
wer f' S B9 UehlT Tidnyd B f(x)= - ;
=T E08X
e et § ararm (ShERET) oo B 7

Options:

! 3E A
3

Question Number : 125 Question Id : 5431075646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The domain of function f(x)=——=— 138

Vep]

%

Options:

x=R
1

x=R-{0}
Z.

x>0
=

X £ [{}. o )
4.
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Question Number : 126 Question Id : 5431075647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

-

T = 3
— . then value of o

3
If '[HI]K=I..‘-'[{T{4:

- 3 3m bl =
R tanx=1.na;‘x{T, Tl sm— Rl HIT =
Options:

%Lu
=

1.
.
, V10
1
>, -Jﬁ
.l
4. 10

Question Number : 127 Question Id : 5431075648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Solutions of the equation tanf+ tan 20 ++/3 tanBtan 20 =43 are :

HHIR T t311E1-+tan_“’ﬁ—\j’gtanﬁ‘raniﬂz \E Bl B
Options:

ar

ﬂ=11H+:3;. nez

1.
nm =

ES —. nNez
> 3 9

A=nm+—. nez
= :

B=2nt+—. nez
4 3
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Question Number : 128 Question Id : 5431075649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Hx=1+2i thenvalueof x*+7x2—x+ 16 1is :
qg x=1+2i al £+ 7x2—x+ 16 F O = ;

Options:
, -17 + 241

= 17 + 241

5 41+ 121

i 41 -121

Question Number : 129 Question Id : 5431075650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

(1+1)
Find the smallest positive value of 'n’ for which - is a real number ?
(1+i)° R s
—{l_nu_; Hl HIF G WA 2F & )T 'n' 6l <199 JHF 1 = ¢
Options:
; M= 2
5 L= 4
5 I F O
i B 1

Question Number : 130 Question Id : 5431075651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

The square roots of complex number 7— 244, 1s :
M9 S 7-241 B F9EA 2
Options:

gcollegedunias



+ (4 — 3

1.

+ (3 —4ai)
S

+ (7 + 13i)
=
, = (7-13i)

Question Number : 131 Question Id : 5431075652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Solutions of |x—- 1| + | x— 2| 24 are :

fx=1] ¥ | x—=2| 24 & o & ¢

Options:
[ _w._%.
. “d
[1.2)
&
? 1
)
SHELR
' o
[ —:r:,—E 'H_.:II Ef |
4. =

Question Number : 132 Question Id : 5431075653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Cuestion

Find the value of x for which the points (x. —1), (2, 1) and (4, 5) are
collinear :

x T I8 {E T4 Hig 579E 0 & g (x,-1), (2, 1) T (4, 5) T

=

L

Options:

x=2
1.
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z.
3_}::3

x=0
4.

Question Number : 133 Question 1d : 5431075654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

A line 1s such that its segment between the lines 5x —y + 4 = 0 and
3x + 4y — 4 = 0 1s bisected at the point (1, 5). What 1s equation of its
hne ?

Il 5x—y+4=0 TAT &N 3x+4y—4 =0 = T Ush wEravs =g
Z | [avg (1, 5) g9 Waravs o S=hiEg 2, df 39 Eravs & HHIET
G 2 -

Options:
] 107x—3y—92 =0

210D3+3}’+92 =0
5 107x - 13y —-90=0

y 107/x+ 3y—90=0

Question Number : 134 Question Id : 5431075655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

The equation of the circle passing through the points (1, 0) . (0. 1)
and having the smallest possible radius, 1s :

3 g9 H HHEI9 1 7, Sl &g (1,0), (0, 1) H I[EIAT B e
IHFE AGHAH IAAT BlET & [SIOAT TEEG B AT B

Options:

, X2+ -2x-2y+1=0

) X*+y2-x-y+7=0

Qcollegeduniag



x*+yvi-x-y =0
=

4K2+F2+X+F+1=G

Question Number : 135 Question 1d : 5431075656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

If the vertices of a triangle are (6, 0), (0, 6) and (6, 6), then the distance
between its circumcentre and centroid 1s :

gie =g & o {95 (6, 0), (0, 6) THT (6, 6) 2, T S =Y & H=h
521 ':|r[ .;L"'i.-"_":-. 9_5 '"er'la ﬁ ?-F %
Options:

2
1

Question Number : 136 Question Id : 5431075657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The equation of the parabola whose vertexis (2, 1) and the directrix is
x—y+1=0;i1s:

3 UYEEH 1 OHERIT @97 B, e o (2, 1) a=n M
x—yrEl=0, &

Options:
1 L+ —14x -2y +17=0

LY+ 14x +2y +17 =0

. Z+y:-14x-2y—-2xy+17=0

4x2+y2—14x+'23-'+2x3-‘ +17 =0

Qcollegeduniag



Question Number : 137 Question Id : 5431075658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

The eccentricity of conic 9x® — 36y° = 144 is :

9Tichd 9x%— 36y2 = 144 H Ih=dl (e) T I =

Options:
5
4
1.
4
3
2.
4
q
3 -
6
{
4 -

Question Number : 138 Question Id : 5431075659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Question Label : Multiple Choice Question

If in an A, P. the sum of m terms is equal to n and sum of n terms is
equal to m, then sum of (m + n) terms is equal to :

TS FFHET TE=TL 49 (A.P.) & m T&l I TR n, T o T&1 H TN

m &, of 39 2o & (m + n) el @ IET 97 B 7

Options:

m+n

Question Number : 139 Question Id : 5431075660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Plav On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1 gcollegedunia;



ouestion Label : Multiple Choice Question

If |[x| <1 and |y| <1, find the sum to infinity of the series

s e o e 55 o O e i i i e TR
ar =T Ul (x+y) F (P xy v+
» THT AR 3 I

gfd [x| <1 =1

{15;3 o Xg}___ + '_55_-‘1;2 + 1-3] +

Options:

X+ ¥—Xy
| (1=x)(1-y)
T+y+xy
(1+x)(l-¥)

i gy g
1—3—12—}'3—}'
=

XE+V+EY
l+x){l1+v
, (1+x)(1+y)

Question Number : 140 Question Id : 5431075661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

n

The wvalue of E

< 1

r=l {Eﬂ"+h‘l|{af+a+b} 15 :

' (ar+b)(ar+a+Db)

Options:
n(n+1)

T O 2

1 {a+b}[_11+1}{a:+b: ]

n

(a+b)(na+a+b)
2.

n+1

(a+b)(l+a+b)
=
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(a+b)(l+a+b)

4.

Question Number : 141 Question Id : 5431075662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

If S be the sum, P the product and R be the sum of the reciprocals of
n terms of a G. P. then P? is equal to :

S FHHT O 49T (G.P.) H, S 3% n T B TN , P T&T H
O T R 39% Ucdsh n Ul & WO@d & AR 2, af P2 & O

—

ay

Options:

Question Number : 142 Question Id : 5431075663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

In the binomial expansion of (1 + x)®, the coefficients of the fifth,
sixth and seventh terms are in A. P. Find the all value of n for which
this can happen :

(1+x* &% 99T H g=d |, 82 a°7 9xid &l & s qEeIT G0
A.P)H Z1n & J TOd 99 = Fita0 59 99 & 0 091 260

Options:
; BT 6, 12
5 N7 o, 10
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3_11=T, 14

, n=8, 16

Question Number : 143 Question 1d : 5431075664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

The maximum number of parallelograms that can be formed from a
set of four parallel lines intersecting another set of three parallel

lines 1s :

=Y FHTL AT B UH Tg==A diF JHFGL A & U gy

AT==T HI Al=2e Il 2 | T TR = THAE FgEs] 9 ATFRTH
Tl B

Options:

.. 9

12
18

20

Question Number : 144 Question Id : 5431075665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

let f:R —-R. g:R—R be two function given by flx) = 2x — 3, glx) = < + 5.
Then (fog)™? (x) is equal to :

I f:R —=R. g:R—>R 7 BT 29 YT G| % =5 fix) = 2x — 3,
olx) = x>+ 5, AT (fog)? (x) THT A BRN

Options:

e |

" x4+ T

A
1. =
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|

i -.'|
x— |
2

Z. &

2
5 )

= '

1
(x—7 )
=

4. =

Question Number : 145 Question Id : 5431075666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Question Label : Multiple Choice Question
13 1
i B
The value of 2 (1" *1" ), where j—./ ] equals :

o=l

13

> (1" +i™), SE ;3 @ = BET

n=1

Options:

Question Number : 146 Question Id : 5431075667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

If a nonsingular matrix A is such that 3A% + 2A%2 + 5A + [ = 0, then
A™ 18 equal to :
i U HFTT 328 A 89 UHIT & 6 3A3+2A2+ 5A+1=0 Al

A T A EFT
Options:
; H{3A% +2A + 5)
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3A%2+ 2A + 51

2

3A% - 2A - 51
=,

—(3A% + 2A + 35])
<.

Question Number : 147 Question Id : 5431075668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

If A({cosa.smma).B(sina.—cosa ), C (1,2) are the vertices of a AABC, then
as o varies the locus of 1ts centroid 1s :

o Alcosa.sina ).B{sma.—cosa ), C (1,2) ﬁfﬂ_‘[ ABC & 9T faTi: % ar
o & HN FEwd UT Hmedh H ATy BAT

Options:
1 x2+y?-2x—-4y+1=0

231X9+}?2]—2x—4}*+1=0
o Z+y-Ix%x—-4vy+3=0

S Xty +2x+4y-3=0

Question Number : 148 Question Id : 5431075669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

The area of the triangle formed by the lines x*+4xy+y?=0,x+y=1
18
WA P +4xy+y2=0,x+y=1 & G 99 =T FN &6 BAT

Options:
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Question Number : 149 Question 1d : 5431075670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question
3253

The value of j W1+cos2x dx is:
0

3303 o
[
Options:

2.
- [3
2202 —|=
2 -
3
2032+~
o s

Question Number : 150 Question Id : 5431075671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

The area bounded by the curve y = 2x — x? and the straight line
VE—X1i8 :
i Wl y=—x O TF y=2x-x & =9 MY B0 & & &F0] &
Options:

9

2
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